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A=10; alpha=2;


HA(1)=25;


t(1)=0;


dt=0.1;


for n=2:501

 
 t(n)=(n-1)*dt;

 
 HA(n)=HA(n-1) - (alpha/A)*sqrt(HA(n-1))*dt;


end


for k=length(HA)


    if isreal(HA(k))==0  % check if H value is negative


        HA(k)=0;


    end


end


plot(t(1:10:end),HA(1:10:end),'.')


hold on


axis([0 50 -1 25])


ti=0:0.1:50;


Hi=(sqrt(25)-alpha*ti/(2*A)).^2;


for k=length(Hi)


    if isreal(Hi(k))==0  % check if Hi value is negative


        Hi(k)=0;


    end


end


plot(ti,Hi)


title('Tank Level Approximation (\Delta\itt \rm= 0.1 min) and Analytical Solution','Fontsize',11)


ylabel('\itH  \rm(ft)','FontSize',11)


xlabel('\itt  \rm(min)','FontSize',11)


legend('\itH_{\rmA}\rm(n\Delta\itt\rm), n = 0,10,20,...','\itH\rm(\itt\rm), \itt \geq 0')
d)
A graph and table of the approximate and exact solutions are shown.
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